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1 Easy as ABC 10 points

Place letters A, B, C, D into the grid, so that in each row and column, each letter appears exactly
once; two squares remain empty in each row and column. The letters outside the grid indicate,
which letter comes first in the respective row or column.
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Answer key: Enter the letters in the marked rows from left to right. Use ’–’ for empty squares.



2 Masyu 10 points

Draw a closed loop into the grid, which runs only horizontally and vertically and passes through
all squares containing a circle. In squares with a black circle, the loop must take a turn, and it
must go straight through the next square in both directions. In squares with a white circle, the
loop must go straight and it must take a turn in the next square in at least one direction.

Answer key: For each row from top to bottom, enter the number of squares not used by the
loop.



3 Cubes 15 points

Build two cubes of size 3×3×3 from the given blocks; each block will be used exactly once. The
blocks may be rotated in any direction, but not mirrored.

There are no hidden cubes; each block consists of nine cubes, all of them being (at least partially)
visible.

A B

C D

E F

Answer key: Enter the code letters of the blocks belonging together.



4 Crossword 15 points

Place 15 out of 16 given words into the grid, either horizontally from left to right or vertically
from top to bottom. One word will remain; which one is for you to find out.

ABTEI

ASTER

BAHRE

BIRKE

DATUM

EIMER

ETAGE

KARTE

LASER

LOTUS

LYRIK

MEILE

NELKE

NUDEL

QUALM

QUARK

Answer key: Enter the unused word.



5 Dissection 15 points

Divide the grid into copies of the three given pieces; each copy may be rotated and reflected.

C

B

A

Answer key: For the pieces A, B, C, enter the number of copies that are needed in the dissection.



6 Railroads 20 points

Draw a closed loop into the diagram, which runs only horizontally and vertically and passes
through every square. The loop must cross itself at the marked spots, and only there. The „sta-
tions“, indicated by digits, must be passed through in the order –1–2–3–4–5–6–7–8–9–10–11–1–,
and the loop may not take a turn in any station.

For solving purposes, ignore the letters at the crossings.
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Answer key: Start at station 1 and go towards station 2, until you arrive at station 1 again.
Enter the letters assigned to the crossings in the order you pass through them.



7 Magic R 20 points

Place the given words into the grid, either horizontally from left to right or vertically from top
to bottom, so that they do not touch each other, not even diagonally. The letter ’R’ must appear
exactly once in each row and column. Some letters are already given.
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LASER
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SPRIT

Answer key: Enter the initial letters of all horizontal words from top to bottom, followed by
the initial letters of all vertical words from left to right.



8 Masterword 20 points

A five letter word must be identified.

Using several other words, some clues are given as follows: white digits in a black square indicate
how many letters are already in the correct position; black digits in a white square indicate how
many letters appear in the solution word, but in a different position.

G R U N D 10

J A U C H 01

K A R T E 30

K O E L N 21

R A T E N 11

S P I E L 01

05

? ? ? ? ?

Answer key: Enter the solution word.



9 Tapa 25 points

Blacken some empty squares, so that all black squares are connected horizontally and vertically.
No 2×2 area may be completely black, and squares containing numbers may not be blackened
at all. The numbers indicate how many of the horizontally, vertically and diagonally adjacent
squares are black: each number corresponds to a group of horizontally and vertically continuous
black squares, several groups are separated by one or more white squares. Position and order of
the numbers within a square are irrelevant.
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Answer key: Enter the content of the marked rows from left to right. Use ’W’ for white and ’B’
for black squares. Squares containing numbers are counted as white squares.



10 Slither Link 25 points

Draw a single continuous loop by connecting neighboring dots along the dotted lines. The numbers
indicate how many edges of a square are used for the loop. The loop may not touch or cross itself,
and it doesn’t need to touch all of the dots.
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Answer key: For the marked rows, enter from left to right whether each square lies inside or
outside the loop. Use ’I’ for squares inside, ’O’ for squares outside the loop.



11 Guards 25 points

The picture shows a museum with hexagonal rooms and hallways between them. Place six guards
in the museum who can watch all the rooms; each guard is able to watch over any distance along
the hallways.

Note: Only the rooms itself must be watched, not necessarily all the hallways.

The rooms marked with a black circle contain especially precious exhibits. Each of these rooms
must be watched by two or more guards from different directions. However, no guard may be
placed in these rooms itself.
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Answer key: Enter the coordinates of the six guards in alphabetical order.



12 Kakuro variation 30 points

Enter digits from 1 to 9 into the white squares. The numbers in white squares indicate the sum
of digits in the corresponding „word“. In each word, no digit may repeat.

Additionally, the following condition must hold: No „word“ may contain two consecutive digits.

Some squares are marked with circles. These circles label the squares needed for the answer key

and have no meaning for the puzzle itself.
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Answer key: From top to bottom, enter the digits in the squares marked with circles.



13 Star battle 30 points

Place stars into the diagram, such that each row, each column and each outlined area contains
exactly two stars. The stars have the size of one square each and may not touch each other, not
even diagonally.

Answer key: From top to bottom, enter for each row the number of empty squares between the
two stars (do not count the squares containing stars itself).



14 Pentomino Minesweeper 30 points

Place nine of the twelve pentominoes into the grid, so that they do not touch each other, not even
diagonally. The numbers indicate – as in a Minesweeper puzzle – how many of the horizontally,
vertically and diagonally adjacent squares are occupied by a pentomino. Pentominoes may not
be placed on squares with numbers. All pentominoes may be rotated and reflected.
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4 1
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The twelve pentominoes:

F

I

L

N

P T U

V

W

X

Y

Z

Answer key: Enter the letters assigned to the three missing pentominoes.



15 Coin square 35 points

Place coins of values 1, 2, 5, 10, 20, 50 cent into the grid; each kind of coin may be used as
often as required. No square contains more than one coin, but some squares may remain empty.
Two coins of same value may not touch each other, not even diagonally; however, empty squares
may touch each other. The numbers outside the grid indicate the total value of all coins in the
respective row or column.

79 16 98 47 163 39
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Answer key: Enter the content of the marked rows from left to right. Use ’–’ for empty squares.



16 Route 35 points

Blacken some empty squares, so that each arrow points to the corresponding number of black
squares. Black squares may not be horizontally or vertically adjacent, but they may touch dia-
gonally. Squares with numbers may not be blackened, and for each black square there must be
at least one arrow pointing to it. The black squares must be placed in such a way, that a closed
loop may be drawn, going only horizontally and vertically, that passes through all white squares
exactly once, except those containing numbers.

←1

←2

2↓

←2 2↓

2→

2↓

←2 1↓

2↓ 1↓

Answer key: From top to bottom, enter for each row the number of squares the loop passes
through straight, without taking a turn.



17 Skyscrapers 9×4 40 points

Place digits from 1 to 9 into the grid, so that each digit is used exactly four times and each row
and column contains six different digits. The digits represent skyscrapers of different heights; the
numbers outside the grid indicate how many skyscrapers can be seen in the respective row or
column from the respective direction. Smaller skyscrapers are hidden behind higher ones.
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Answer key: Enter the digits in the marked rows from left to right.



18 Hexagonal Fillomino 40 points

Divide the grid into several areas and fill in a number into each cell. Within each area, all numbers
must be the same and be equal to the number of cells of that area. Areas of same size may not
touch each other.

Given numbers may belong to the same area, and there may be areas from which no number is
given at all, even with higher numbers than all the given ones.
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Answer key: Enter the digits in the marked rows from left to right, including those digits already
given.



19 Outside sums Sudoku 50 points

Place digits from 1 to 9 into the grid, so that each digit appears exactly once in each row, column
and outlined area. The numbers outside the grid indicate the sum of the first two digits of the
respective row or column.
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Answer key: Enter the digits in the marked rows from left to right.



20 Twin maze ? / 60 points

The picture shows two separated mazes, entry and exit indicated by arrows. There is no way to
go from one maze to the other.

Your task is to find a way through both mazes simultaneously, according to the following rules:

In each step, go in one of the four directions (right, left, up, down) till the next point. Each step
must be performed in both mazes simultaneously; if it is not possible to go in one direction in
one maze, it is not allowed to do so in the other. It is not allowed – and of course not necessary
– to make a U-turn. All points and lines may be used as often as required.

Both mazes are entered at the same time; find a way to leave both mazes simultaneously. Aside
from forbidden U-turns, that way is unique.

A�

B�

C�
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J�

S

Z

Answer key: Some nodes in the right maze are labeled with letters. Enter the sequence of letters
on your path, beginning with S (’Start’) and ending with Z (’Ziel’ = finish). If you pass through
some labeled nodes more than once, the corresponding letter must be entered accordingly.

Note: This puzzle differs from all others in this respect, that it is possible to earn points for an
incomplete solution: Each correct letter from start till the first missing or incorrect letter yields 2
points, likewise each correct letter before finish; S and Z itself are not counted here. It is allowed
to deliberately enter incomplete solutions; for instance, ’SD–CBZ’ as solution of the example
puzzle is worth 3×2=6 points.

Of course, for this puzzle there is no penalty for an incorrect solution.


